HWEEZFDNAM: REIHAREXREFMHYE
XHEE: FR25FE

BEES Xtk X HEE(A) ME
1[I = 4ERET 32,067,000 -*K.,ﬁ.,+$$
2|= L )IET 11,644,500 |FAEHRETEX
3| )1 = 4ERET 750,000 | BERERHFRE X
4|=L)IIET 180,000 | B EKEHBRE %
5| B JEHT 4,500,000 |SEAERARE X
6|5 )I|ET 3,332,000 | SENEHIRE %
7|FaERET 1,200,000 | B EXERHBREE
9| & FEET 9,500,000 |HEMEMEBERBIERIESE
11| FaERET 5,000,000 [(HFEEEMEEXIIRERSE
12| B HEHRT 9,881,631 |KEEIFEZE
13|= L )IET 252,000 [KERIBEX
14| B 3ERT 679,000 |KERIAEE
15| FEERET 300,000 [KERIBEX
16| 5 HEHET 544,000 [KERIBEX




